Multiply and Divide by Positive Powers of Ten (D)

Find each product or quotient.

8.5106 x 100 = 4.7939 x 1,000 =
9.83 x 10 = 6.32 10 =

6.01 x 1,000 = 3.7+10 =

6.25 + 100 = 0.3 x100 =
4412 x 10 = 6.1 X 1,000 =
3.555+10= 3.5 X% 1,000 =
5.61 X 100 = 6.8153 x 10 =
1.4 +100 = 0.989 - 10 =
2.7%x10 = 5.377 x 100 =
2.86 - 10 = 0.3995 x 1,000 =
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1ltiply and Divide by Positive Powers of Ten (D) Answe

Find each product or quotient.

8.5106 x 100 = 851.06 4.7939 x 1,000 = 4,793.9

9.83 x 10 =98.3

6.01 x 1,000 =6,010

6.25 + 100 = 0.0625

4412 x 10 =44.12

3.555+ 10 = 0.3555

5.61 X 100 =561

1.4+100=0.014

2.7 X 10 =27

2.86 ~10=0.286

6.32 +10=0.632

3.7+10=0.37

0.3 x100=30

6.1 X 1,000 = 6,100

3.5 % 1,000 = 3,500

6.8153 X 10 = 68.153

0.989 =10 = 0.0989

5.377 x 100 = 537.7

0.3995 x 1,000 = 399.5
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